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Was nmimww included because of 7, etc. — 991 3R20R 777972 NImoR TUN

OVERVIEW

X217 ruled that if he placed the vi in the hand of 172y (or 17%¥m) and he gifted her the
72y (or the %) she is NWan. 2R challenged this ruling for since %1 (by v3) is
derived from 717>, we need to assume that %17 "3 which is effective by 3 must be
similar to receiving a 717°2 03 which can be both nnyT» and nn1> %¥2. However by
this 7¥n 7°3p, where he is gifting to her the 72¥ (or the 1xn), this gift is only if she
agrees but not "v3, so it should not be able to create w1 *wK 72 *»w 21 replied
to this question pointing out that 72p% mm>w,” which can only be done 7nyn is
effective even though it cannot be done 3"va. To which *aX replied that mm°%w is
derived from 75wy 751 (but not from 737°) therefore it need not be 3"v3, however
7% is derived from 777 and therefore if it cannot be 2"¥2, it cannot create w173,

nooIn asks:
— “wmx *(a,0 1) RYINMN X227 NP 79927 99NN ON)

And if you will say; for "wx 17 states in the first 299 of »''2 n>on -
- 6’)‘,7 NI YOTT ANONA) CMNYIUN ¥ NI INIINN N1 DIVN 98N

That 221 7737 was included because of 7°, but it is not inferior to nmbw, so
therefore by nx°x» where it is beneficial for him (to acquire the nX°xn) he
acquires it -

— P NOIIT N KDY 198N TN 10 1IONY 29 HY 9N
Even though he is not standing beside his 9371, so this 7% is not similar to 7°

(because the 77 is always beside the person), nevertheless he is 7117 -
— 715303 XYW D1NY P9 MINYOY NI 2PY

Because he acquires the 7X°3n through the power of niow, for one may make

" The only giving (of the 1) that can create w11 should be a giving than can be done 2"va (for instance if she
owned the 11 beforehand), but not a giving which can only be 7ny7n.
2 When the woman makes a MW to receive the 13, as soon as the 9w receives the va (from the %¥2 or H¥37 m9Ww),
she is nwn, however we cannot force the 793p% 1°9W to receive the v, it has to be ny7» that she agrees to it.
? It is actually on (the very top of) X,2>.
* swx 21 explains why by va the woman needs to be standing 77°%n 7¥2 however by receiving a man» (or AX°%») in
your X1 it is not necessary for the 711177 22pn to be standing beside the Jxr.
> This means that the 2n of a person can function as his 7° (if applicable) or as his 9w (if applicable).
% See MooIN there 71X 7"7 that by [X*¥x if it is a naNw»A 78 there is no need to be 77°%2 71, however by a vx even
if it is a nNWHT 72N, she needs to be 7¥2 NTMW.
7 The "3n is considered a m°9w of the 7¥n: Y¥a. Just as a regular 19w can be 7y for the 77wn even 1192 X9W or KW
nyTa if it is a M37 for the oW (or the 71277), similarly the 11 can be 7np for the 7%m7 Y2 even 1192 XYW or NyTn Kow
if it is a M2 for him (such as 71071 XXM, but not v, which is a 217).

1

TosfosInEnglish.com



10X 7"7 "0 X,RD I .7"02

a beneficial acquisition for a person even not in the presence of the acquirer —

mooIn concludes his question:
— 1Dy NINM YOV NY ANOT XN 19 ON

If this is indeed so (that 7317 can be 11 as M°7Y and it must not be 777 X°217)

then here where he wrote a 771n% "vw on the 7av (or the 7xn), so -
— "MW NI YINN NNY3 Hya XNPY NaNnT N7 NN NN NYT 22 Y 9N

Even though this 7x717 is not similar to 577, for a 7in% cannot be acquired >'va,
nevertheless she should be divorced because she acquires (the 7% and therefore)
the v through the power of Ny W (which does not require [and cannot be] "y2) —

N1B0IN answers:
— 99 NID $STT SN NPT MNSIWM P93 YT 1N 19393 XYY 193y NDYTT 91219 W

And one can say; that it is only regarding acquiring something 152 Xbw that we
say that 11 is not inferior to nym»w and it can acquire something which is

beneficial to him -
— 77 NO1IYT )3P¥a ©Y937 INYA DAN

However regarding other matters, we require that the 7xn be similar to 77
(including that it must be possible to give it 3"¥2) —

mooINn proves his point:
— 7911 NYHY 113 MNYY DYVN NIPH NIP NI INNN NIYNN TN 19 XY ONT

For if this is not so (and 2xn can function completely like a m>w, even when it is
not 77°7 X°217) why is a moving =31 not 7213? It should be 7237 based on mbw,

just like a walking m9%w is 72p, so too a n2%an 20 should be 7317 -

—%53p XY P DYLNT 2 Y N
even though a n>572 1¥n cannot be 71 based on 7°. This proves that in all other
respects (besides 1°192 X5w 11p) a 7% can only function 7 ayvn (but not MHw aywvn).

nooIn asks
— %Na9598 ANYYY NTWIND MNYYYT Y19 RYION 199 NOWP NI Y 29 9NN ON)

¥ The question is that since the 770 was 7727 that a person can be w2 his wife by placing it in her 7%r, and 137 can
function as a 17w (not only as a 7°); therefore we cannot ask that 2¥r must be 777 X'm17, because 1% can function as
MW also, and by mn*ow there is no 2"va. Therefore she can be divorced by acquiring the v3 through the mm>bw
aspect of 7% PIp.

? A naban 2% is not ANP because it is not similar to 7. The 7> of a person is always by the person; it cannot go away
from the person; however a n3%m» 7%n can walk away from the person.

' Without the previous answer of moo1n we could have explained that X"2w" was asking that since 7% is Xy X»
mrown and by 7937 mmhw there is no 3"va, therefore it is a proper w1 even if there is no 2"va 2xn PIp.
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And if you will say; what was the difficulty which »*2 29 had with s"2X

question, did he not know that ny>>w was included from oy nown -
— NYY 59199 NN ROIWT NN (x,xn 91 PYITHPT 72 P92 NP NNYH2 NN

For it is a Xn%"2 in the second P92 of PwITSP nNdon, and something which is

obvious to everybody that mm°5w is derived from 79w, but not from 77> (from where 937 is
derived), so how does he compare the two —

Mo0IN answers:
— D7D V) NYIN NI NYHNNT MNOYA INIYNT 113 920 MY 297 99D U»

And one can say; that ®'- assumes since we find by mn>w that she is

divorced even without the v reaching her hand -
— N9 Yya RIPYT 2) Yy 9N

Even though that this m°%w cannot be >"'¥3, therefore -
— P DIVN INAININT 223 98N )vH

Regarding 221 as well, which was included because of 7 -
— M5 NIIT 9911994 Y9N NI 99D 1Y 1Y 1ANTMN NY

It does not seem logical to him to say that the verse was particular that the 73

should be so similar to 7° that it needs to be 3"¥3, since MA*»W is not 3"y2 -
— NYWYIN INAININ IHINYHVUT 2] 48NY MNIYN AN NYand )ONT Y9 970 AN

And 2K replied to w"1 that we cannot bring proof from nmb»w to 23n, since
mmyw was included from nben -

P OIVN INAININ I8
While 221 was included because of 7°.

SUMMARY
a3 is Mown v XY regarding (only) that it is effective 1192 X5w, however in all
other aspects (like n327% 1¥m) it must be similar to 7°.

THINKING IT OVER
Why is there a difference between 1°192 R5W (where 1817 is Mmow avvn 1) and all
other aspects of 7x1 in which it must be 77 xm72'?

However, now that n1901n explained that when we say mm>wn RyI2 X2 1¥n that is only in reference to 1°192 X>w, but
not regarding anything else, then how can X"2w1 compare 722p% m°2w, which is derived from 17w to 2%n which is
RINNR X7 DwWwn.
"It would seem that X"2w thought just as 7% can be 1192 X2w Anp (even though it is T oywn) similarly it can create
7w17% even when it is not 3"¥3, just as we find by 722p% MW,
12 See 70 MX "2 and 7"»X # 106-8.
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